To hear and view this Pencast PDF on your computer,
click here to get the latest version of Adobe® Reader®

Fém\aam‘ncj 2 /11—-13

-

l6.50[l < o, b s.a.

— 2im x72 (cotx+ = +bx>

KX—~> O

o = " -
Losning : cotx + = +bx ooz o +0
X3 X—=>0

e

ANEIAN

AN

| | N
Sinx T x thbx
NE
SN A 4 < \ | 2 y (ﬂa/mnakm b@""'@
- TS/ 3 oo T X T OAN IV X ) 5
VA P slg som X, om
[\ ST X J 7
— }y L'Hospitals regel
ijlors formel ; (t.o.m XB) anvands  kemmer
moun  bencval
COSX = l”*:‘ ><‘ + O(X ) derivexo. ca B agr)
2 Yo [OAN] /
. XZ x°
SiNx = x— —— + 20—+ O(xﬂ
S A
x X
\)gj’ 774 Yo &@— 7 N \20 H:Z{ b¢ *‘Ofxﬂ
M | p oy :"}
T+ OCX )/
X+ax =0 = da=- (x%O, X —=0)
_ 1 1 _ _ 1 1
z* g th=0 = b s ~ '3



http://get.adobe.com/reader/

To hear and view this Pencast PDF on your computer,
click here to get the latest version of Adobe® Reader®

|
29~ 120 “% T OCx%) } | :
[+ OC}\Z/\ M 120 B (92
S S SR So S S
o 2A | & - T C«e
O |\J rJJ
_ t
leH0a]  fim x2( ( SINXT dt-x\
X—>0 o €
(' sin xt e
C _E —
| » Z Q\beq& sad
S >§L/_ S + O {5’ s)d,{: —
ZL——\é —
X%
=z
| 5,_1__ r__t_écl‘ A N \5\ Y
-2V ¢ L3 dg N )
XO
_ |
— -4y
stk Cxt=u \e=o “:5\,
aternotivt J —%—d*:z Jc=%;c\£ﬂ%du\t=l: U=X
o
X
© sinw L gu = s5inu
= ( w x Q% J vy - bra frm om
J
18 X o man Skoo
~ avan da
[ sinax | L' Ttospitals
) a
X< regel
0] J
a>0 obercende an 8



http://get.adobe.com/reader/

To hear and view this Pencast PDF on your computer,
click here to get the latest version of Adobe® Reader®

Vaurningsexempel for L Hospitals vegel:

Jier X2 #r\“‘g ;Oy\ﬁaé

*=>o TN 7\06%'

£ *Q_\ SinJ{j+ x*cos _,lt - _><Li}\ >

90 (coo%) S
. ~ Gy Vil

Losning M. h.a standaxdgronsvarden -

sr];< XD“I X

x5t - o
5';'1’\1/\ SR X=0
Xj\\
2
2

\ C?( - . x’)—x - OO"
L —ox T U oe = e = 7o
X—>p0 X—> 0o

m.n.a | 'Hospiials regel:

2

k) _ axe® L‘Hospifcds recael ger
g '(x) e” inget !

¢ Jer
Swaﬂgheq%h kKormmex
baroe ot reproduceras



http://get.adobe.com/reader/

To hear and view this Pencast PDF on your computer,
click here to get the latest version of Adobe® Reader®

p_.
fpx) = X Sin %

p=0 sin > saknar Lm /| AﬁW (ANARTAN
s VA1 TVAV

p=| Xél’rﬁ’Jx_;:j)O A T\

/5(!1}& %H[\

DSl iV

p= 2 %251 % hox denvada N |

derivatoin €J\\} / \W‘\»\ \

kont, + O V\W\

Doxlooux saxs

£ deriverbor ' IT5 abe |

fila) - £'(b) <0 (ﬁ\@q o £'(o) qu*oxka»kﬁkﬁn\

= dFe(ab) : £(§)=0

(f‘ WD%L ler paéﬁraerndeﬁ | saksen g mellan-

hqo\oﬂde \/ourdem uwtan ot ' belndver VoudL

kowhnuex w.ﬁ

£ x | l_ iEL denverbar funktion sa.

! £ =

°1 o)



http://get.adobe.com/reader/

To hear and view this Pencast PDF on your computer,
click here to get the latest version of Adobe® Reader®

BEVIS ow saxs:  fl(a) 70
f‘(b)<0 WLog
. a<b
(% b
~ —
Floorn) = o)
161(0«\ = m ] 7O
T h0t n
= VAl €= Flfa); T5>0 1 Nh: O<hed
o) A P \ [
f_mh_i_@ ~ £ | < & E'(a)
1 ’IPCO\,JV‘V |> fCOb}
= -~ = 5‘(@)‘5\ X “f' @) <« = £l(a)
T Floth)—Fla) 3
= 0< 7 £'(a) < ; (¢ = £'(a))
| |
o _'7\ A —\efu,\
= T2 50 fry O<h< dg
i g
| flatn)-F@)> ﬁ(curm 7 f(a) Yh: 0<h<g

— £4a)

(=]

ot/gav—\-ée

2654
| —>



http://get.adobe.com/reader/

To hear and view this Pencast PDF on your computer,
click here to get the latest version of Adobe® Reader®

fY(b) <6 = p-5.5. — . (“b)<o VV“O““M

flo)

¥ derverbor 1 I = F kerdinuertio \ B*/b:\

= £ ox eH storstal Varde Ea,b]

frraw Kan inte anfas 1 a  euer b

= f£'(§)=0

Adermativt s £Fl(a) * F‘(b)

o mellan @‘(a) och £'(b)

= dEgelb): £(§)-p

c«,(x\« f(x\’MY

qd LMDD]CHUCV so4sen  innoun



http://get.adobe.com/reader/

To hear and view this Pencast PDF on your computer,
click here to get the latest version of Adobe® Reader®

Differensexkvaiicner

Diskrex aunodo9) H1 differertialerkvatoner

~ 2

jany \
A\ Y AN —= ?
—7 oA (@)

det ar inte naﬁrwrli@%a&b

‘ lodo. den aa mot ol
3 NN J

S,

F(n+l) - £(n) _ /%Jm»rs _’L(’}"n\

1

f+1) — 1N
e a

—~

JARS

Differenseknation

Flu,,u,

L A S 1 < i B kjr\ifm> =0

Linjara differensekvahoner

G+ ay T+ by = £(m)
Jree T mai j

d’\

./
differensekNodionens

cvdning



http://get.adobe.com/reader/

